H & Ol & AF S E Al A
20258 =0ila eI SAIE 2t

H

b=l

A SXE

J

ot
SXAHIA 25t
=

M XSG AE
el XGAtel XS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXE M 68,614,571 64,546,876 4,067,695
- 33,974,687
[ 1,502,075
Al 24,743,756
= 8,394,053
KIAIEl SXAHIA 235 68,307,042 64,259, 149 4,047,893
= 33,974,687
[ 1,412,645
Al 24,699,041
- 8,220,669
KAtz SX8E 1,398,428 1,307,137 91,291
Al 24,000
- 1,374,428
NN RS 25,340 22,340 3,000
201 er2 3| 16,740 12,740 3,000
01 AtR2te|HI 15,500 12,500 3,000
KGAtel =X 2dst B2 - SSAY 15,000
SHAES0l A X (EERE S) 500
2 35244l 240 240 0
Moz )| SUeS
20,0002 «1CH =122 240
203 HR=AH] 6,800 6,800
03 A= PR F&IH| 6,800 6,800
SNNs BRFA 5,000
A2l =X ge=8 2,000,000 *90% 1,800
303 Zal= 2,800 2,800
01 Z&= 2,800 2,800
S SAgd duEIt 243 Ald= 2,800
ESES 1,000,000 15 1,000
F 700,000 +2= 1,400
e 400,000 1= 400
MEIFXAIE SAHL MK 129,720 70,320 59,400
307 212+01& 129,720 70,320 59,400
05 2ItRIE = 9,520 9,520 0
A2ISXIAL 221 FH|
28,0002 x340H 9,520
10 Al SXAAEEHE 22X 120,200 60,800 59,400
A2ISXAIE SAHAE S+
240,000 430 103,200
NBISTIM Z012% 4+
100,000& %170 17,000
NeAtel 2 ZE2AM 22 68,000 53,175 14,825
201 Ler23 | 53,000 53,175 AT75




A SXNEH
33 NGAMel SAAEIA 2ot
&elr XFAe] SX8EE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 45,000 45,175 A175
- NSAI2ZEH 29 16,400
S NSA2I238H 29 A& 28,600
03 A= 8,000 8,000 0
KNGAMA2HEAM SEda AdS 8,000
308 XXM SOIH 15,000 15,000
13 SO [2S0tHe 4 A AS A 15,000 15,000
HE6II NSARI 2EH 2 =8 NSARE2E
EAYN I = 30,0002 %5000 A (MICH) 15,000
KNSAR 2N AR= 2det XA 61,200 61,200 0
Al 24,000
- 37,200
307 gl2to| & 61,200 61,200 0
Al 24,000
- 37,200
EESNEEEEETEES 49,200 49,200 0
NGASI S BB AT AR2 HYXE H2
faala] 500,000& x1&~12& 6,000
NSARI2HE M MR= dERE Al
(2=X) 3,000,000& «1H*12& 36,000
Al 18,000
- 18,000
KNGMAZ2HEAM AIR= 29 X 7,200
11 AMRISXAEEES 12,000 12,000 0
NSARI 2HE M AFHI X2 12,000
Al 6,000
- 6,000
ASISRHME K (HEAY) 1,023,960 1,019,294 4,666
301 EtE N = 1,023,960 1,019,204 4,666
0 AR=2224s 1,023,960 1,019,2%4 4,666
ANBISRNE X3 (S3)
1,000,000& x75E 122 900,000
ARIERHE X2 (nsShl) 108,000
AMEISRME X2 (TI=H) 15,960
HREX A=RRE 272 77,808 77,808 0
301 EtE NS 77,808 77,808
0 AR=R22as 77,808 77,808
SAHI(S,8AM) 16,824
SAHI(ARIZXIAIE) 60,984
UIEtENXAIS A2 g8 XIZ 12,400 3,000 9,400
307 21201 & 12,400 3,000 9,400
02 QB HANEER 12,400 3,000 9,400




A SR
g NG Ml SXIAMEIA Zet
el XGAtel XS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
et AT AR (SRR TRERIE]) 88
A& 4,000
et ATIAIS AR (SR 2 3) 283
& K& 8,400
SXAIE 2el 7,368,363 7,035,573 332,790
Al 6,498,175
- 870,188
AR SR 2 7,268,363 7,035,573 232,790
Al 6,448,175
- 820,188
307 elzto| & 7,268,363 7,035,573 232,790
Al 6,448,175
- 820,188
05 212t =S 5,719,971 5,560,148 159,823
NEISTIB 2 (IHA)-B8 HUE S35
2,25 3t et 5,719,971
Al 5,115,774
- 604,197
10 AlRIS XA EEE 22X 1,548,392 1,475,425 72,967
ANESEX 2 2H2HA)-=3,83d 1,548,392
Al 1,332,401
T 215,991
Olglol SeEsta2t 2 (L= (DY) 100,000 0 100,000
Al 50,000
- 50,000
307 @120l & 100,000 0 100,000
Al 50,000
- 50,000
10 Al2ISTIAEEE2HIEX 100,000 0 100,000
24| 100,000
Al 50,000
- 50,000
223 2t 2 T 2,128,782 2,064,482 74,300
Al 1,756,800
- 371,982
S22 ¢ NE 10,000 10,000 0
201 er2 3| 10,000 10,000
01 AtR2t2|HI 10,000 10,000
s392 2AL NI
10,000,000& * 14! 10,000
22U X2 1,949,600 1,887,200 62,400
Al 1,756,800
- 192,800
301 EtE NS 1,949,600 1,887,200 62,400
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2A:

E M

SXIEZ L
KA SXIAMHIA 28t

&2 NS MEIAE ALY (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

= 1,315,349
Al 281,861
- 281,861

KNEHLE S MAE 1,624,938 1,466,661 158,277
[ 1,137,456
Al 243,741
- 243,741

308 AXIMSOIA 1,624,938 1,466,661 188,277
[ 1,137,45%
Al 243,741
- 243,741

18 SIS0t oA AS At 1,624,938 1,466,661 158,277
KISALS MHIA SXRAFS (KISIHEE) 1,624,938
= 1,137,45%
Al 243,741
T 243,741

KNSAMIMEBIAETAY 22 4,000 4,000 0
= 2,800
Al 600
- 600

201 er2 3| 4,000 4,000 0
= 2,800
Al 600
- 600

01 AtR2telbl 4,000 4,000 0
KSAMBI MBI ASETIAIY 2E(XI~) 4,000
= 2,800
Al 600
- 600

LSS MEIAAN 214,286 214,286 0
= 150,000
Al 32,143
- 32,143

201 fer= 3| 200 200 0
[ 140
Al 30
- 30

01 AtR2t2|HI 200 200 0
Lo ESSMHI AL 200
[ 140
Al 30
- 30

308 AXIHS0IA 214,086 214,086 0




2A:

SXIEZ L

33 NGAMel SAAEIA 2ot
ol X=X AHIASXIAIY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 149,860
Al 32,113
- 32,113
183 S 2SS B XA AIE 214,086 214,086 0
LSS MHIAAY 214,086
[ 149,860
Al 32,113
- 32,113
eSS XA 35,847 0 35,847
[ 25,093
Al 5,377
- 5,377
308 AXIHSO0IA 35,847 0 35,847
[ 25,093
Al 5,377
- 5,377
18 SIS0t oA AS A 35,847 0 35,847
s =S AE 35,847
= 25,093
Al 5,377
T 5,377
QIHOLHHZ =& 3,263,888 2,417,111 846,777
= 2,355,000
= 97,29%6
Al 431,722
- 379,870
2==X A& 2,900,000 2,160,463 739,537
= 2,320,000
Al 290,000
- 290,000
301 LEetE N = 2,900,000 2,160,463 739,537
= 2,320,000
Al 290,000
- 290,000
01 Al EEABZ2(2DEEMR) 2,900,000 2,160,463 739,537
232X 2,900,000
— 2,320,000
Al 290,000
- 290,000
2o 2Ig= XS 97,730 47,338 50,392
Al 97,730
301 2= 97,730 47,338 50,392
Al 97,730




A SR
33 NGAMel SAAEIA 2ot
e QIHOLHEIEE =& (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 MBI 2HHSFHS(HAANS, XLHE) 97,730 47,338 50,392
a8 AXE 97,730
Al 97,730
AZ7 SEAtdZel X 22,350 22,350 0
= 7,500
Al 3,750
- 11,100
201 et 3| 7,500 7,500 0
[ 3,750
Al 1,875
- 1,875
01 AtR2t2|HI 7,500 7,500 0
A27 SEAt2el 88Hl S 7,500
[ 3,750
Al 1,875
- 1,875
202 04| 7,200 7,200
01 2L A b 7,200 7,200
SSARIZRIAZRE) 20|
20,0002 x5 +63|* 122 7,200
301 LEIEE S 7,650 7,650 0
s 3,750
Al 1,875
- 2,025
01 Al E2E AL S(FRNEXM) 7,500 7,500 0
A2 SEAtdIZel Al 7,500
[ 3,750
Al 1,875
- 1,875
11 AALAHIXIES 150 150 0
SRALXEE J18e MFU2 Il
30,000 %5 150
SHs &Y SEAMHIA X 128,280 128,280 0
= 89,796
Al 19,242
- 19,242
201 =3 64,140 64,140 0
= 44,898
Al 9,621
- 9,621
01 AtR2t2|HI 64,140 64,140 0
SHsS AEE SEAHIA 23| 64,140
[ 44,898
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2A:

X XH -
o=

e QIHOLHEIEE =& EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
- 14,000
201 Ler2 | 30,000 10,000 20,000
= 15,000
Al 9,000
- 6,000
01 Ar2eltl 30,000 10,000 20,000
I=AL A8 XIJAALS 30,000
= 15,000
Al 9,000
- 6,000
307 212+01™ 40,000 10,000 30,000
= 20,000
Al 12,000
- 8,000
11 AR SXAMEEER 40,000 10,000 30,000
HYE D=A DREZ NJA 40,000
= 20,000
Al 12,000
- 8,000
NEAS LsFE AL 121,572 117,572 4,000
Al 68,000
- 53,572
2L K 13,000 9,000 4,000
201 L2 | 13,000 1,000 12,000
01 At 22|l 7,000 1,000 6,000
FEIAA(AIRUSS &) AIEEHl 2X8
ES 7,000
2 S=29| 6,000 0 6,000
AL (AZUSS &) 29 6,000
TFoW3 X 40,000 40,000 0
Al 20,000
- 20,000
307 212+01 A 40,000 40,000 0
Al 20,000
- 20,000
10 AlSISEXAEHE2EHIEX 40,000 40,000 0
FEWT X2 40,000
Al 20,000
- 20,000
ZC0B 29 68,572 68,572 0
Al 48,000
- 20,572
307 2I2+01A 68,572 68,572 0




S SXEBD
=

g NG Ml SXIAMEIA Zet
=Rl XFALE Us=8 AL (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 48,000
T 20,572
10 Al SXAEEHE2EHI2x 68,572 68,572 0
ZE0IE 28 68,572
Al 48,000
- 20,572
S0l MOy XA 45,275,184 42,868,373 2,406,811
= 29,754,038
Al 10,789,179
- 4,731,967
JI=ge= Xs 8,936,571 8,936,571 0
= 6,255,600
Al 2,680,971
301 EtE2 NS 8,936,571 8,936,571 0
= 6,255,600
Al 2,680,971
01 Al 2E AL S(FRDEXM) 8,936,571 8,936,571 0
II=HMA= 8,936,571
= 6,255,600
Al 2,680,971
SIUES N = 1,475,870 1,475,870 0
= 1,033,109
Al 309,933
- 132,828
301 2eEN= 1,475,870 1,475,870 0
= 1,033,109
Al 309,933
- 132,828
01 Al EE A S(FRNEXM) 1,475,870 1,475,870 0
FoH==¢ 1,475,870
= 1,033,109
Al 309,933
- 132,828
Zo==2(AARS) X2 527,267 527,267 0
= 369,087
Al 110,726
- 47,454
301 EtE2 NS 527,267 527,267 0
= 369,087
Al 110,726
- 47,454
01 Al EE A2 (2RNEXMR) 527,267 527,267 0
o+ E(HIS) 527,267




2N SXFMD
M XA SXMEIA 25t
SHol: FOHO! MBOHY XIS

RA - I BRA(E) - HRA - BES of vy A

= 369,087
Al 110,726
T 47,454

ZoHe! e+ = 429,335 429,335
Al 429,335

301 2N = 429,335 429,335
Al 429,335

02 MBI 2HHSFHS(HAANS, XLHE) 429,335 429,335
oS MHeE+== N= 429,335
Al 429,335

ZoHe!l 22017 X At 14,375 14,375
= 11,500
T 2,875

301 LtENZ 14,375 14,375
= 11,500
T 2,875

01 Al EE A S (2 DEXMA) 14,375 14,375
ZOHR! EX0|7 14,375
= 11,500
T 2,875

el 22017 =2l At 132,200 132,200
Al 132,200

307 el2to| & 132,200 132,200
Al 132,200

10 Al SXAIEEHE 22X 132,200 132,200
Z0HRl BXI|7 2elArY 132,200
Al 132,200

HSE2EF =558 |X2Y] 3,600 3,600

201 =3 3,600 3,600

02 3224l 3,600 3,600
HSEHF s558)| |FA22H] 3,600

Zo 2=Hl X 272,341 272,341
= 217,873
Al 54,468

308 AtXIEMSOIE 272,341 272,341
= 217,873
Al 54,468

183 SIS0t 4R A AL S 272,341 272,341
ZO0He! o|=H| 272,341
= 217,873
Al 54,468

ZoHelSSE &Ed| K& 10,956 10,956




2A:

SXIEZ L

33 NGMel SAAEIA 2ot
cHRlr Hopel dEory XX (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 5,478
Al 5,478
301 EtE NS 10,956 10,956 0
= 5,478
Al 5,478
01 Al EE AT Z(2DEXR) 10,956 10,956 0
oI SSF A 10,956
= 5,478
Al 5,478
Mg el sdtHlE N 6,000 6,000 0
= 4,200
Al 1,800
301 2P EN= 6,000 6,000 0
= 4,200
Al 1,800
01 A2 EH 2GS (RNEETHE) 6,000 6,000 0
HdZ0Hel S4HIE XI& 6,000
= 4,200
Al 1,800
ol Iy 4 N 3,000 3,000 0
301 EtE NS 3,000 3,000
02 ARI2HHSFS(HAAS, NLHE) 3,000 3,000
o I sAKIA 3,000
LETHEAHIA ALY 1,013,863 1,013,863 0
= 709,704
Al 162,080
- 152,079
307 @I2t01 & 1,013,863 1,013,863 0
= 709,704
Al 152,080
- 162,079
05 212t =S 1,013,863 1,013,863 0
ZOHOtSMHE R Z ALY 1,013,863
= 709,704
Al 152,080
- 152,079
HOE L KRS 5,000 5,000 0
= 3,500
Al 1,500
307 @I2t01 & 5,000 5,000 0
= 3,500
Al 1,500
05 2ItRIE = 5,000 5,000 0




2A:

X XH -
o=

SXIEZ L
KA SXIAMHIA 28t

el Zojel 4oty X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HOEEL R IR AALY 5,000
= 3,500
Al 1,500
ZoHe! EsXR (H<H) 24,130,502 24,130,502 0
= 16,891,351
Al 3,619,576
- 3,619,575
307 elztol & 24,130,502 24,130,502 0
= 16,891,351
Al 3,619,576
- 3,619,575
05 2IIRIE =3 24,130,502 24,130,502 0
ZoHe! S (BRAXIJ) 24,130,502
= 16,891,351
Al 3,619,576
- 3,619,575
ZoHe EsX2 JttsSX 401,183 401,183 0
= 280,828
Al 120,355
307 elztol & 401,183 401,183 0
= 280,828
Al 120,355
05 2I2tRIE S 401,183 401,183 0
SSYMUSEX JRIEH 401,183
= 280,828
Al 120,355
Z0H! S XIA(AIHIFI) 1,368,105 1,598,189 A230,084
Al 1,231,295
T 136,810
307 lztol & 1,368,105 1,598,189 A230,084
Al 1,231,295
- 136,810
05 212t =S 1,368,105 1,598,189 A230,084
SEZMNUESEX(AIHIFIIX) 1,368,105
Al 1,231,295
- 136,810
ZoHe! sXE dofAs =& 4,800 4,800 0
201 2= 4,800 4,800
01 At22t2l] 4,800 4,800
FoHUESXE S22 =
100,000 x3& * 162 4,800
LEHQ FHESAHEIA X 2,602,972 1,623,792 1,079,180
= 1,822,080




2A:

SXIEZ L

33 NGMel SAAEIA 2ot
cHRlr Hopel dEory XX (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 390,446
T 390,446
307 lztol & 2,602,972 1,623,792 1,079,180
= 1,822,080
Al 390,446
- 390,446
05 2ItRIE = 2,602,972 1,623,792 1,079,180
LY FHESAHA XS 2,602,972
= 1,822,080
Al 390,446
- 390,446
ZSE LEYM =2t OF 1:1 N 410,000 0 410,000
= 287,000
Al 123,000
307 glztol & 410,000 0 410,000
= 287,000
Al 123,000
05 212t =S 410,000 0 410,000
ZISS LEe =2t 18 111X 410,000
= 287,000
Al 123,000
22d0ie 2 SSAHHIA XIE 828,657 130,569 698,088
= 580,060
Al 248,597
307 212+01& 828,657 130,569 698,088
= 580,060
Al 248,597
05 2IMRIE =3 828,657 130,569 698,088
LTS SUSESAEIA XS 828,657
= 580,060
Al 248,597
LR B2 MeldE X 7,689 6,000 1,689
= 5,382
Al 2,307
307 @I2t01 & 7,689 6,000 1,689
= 5,382
Al 2,307
05 2IZtRAE = 7,689 6,000 1,689
LSO RF2elaE X 7,689
= 5,382
Al 2,307
LEYR SSAIAY =8 13,900 13,900
201 eer23y| 3,900 3,900 0




A =SXEM
M KIAS] SXAHIA 235}
Celr ZOoHe! MEotE X (SH &)
SA - ZE - B2(30) - HRAS of v G o HIDE2
01 At2t2ltl 3,900 3,900 0
SRRl FABSALIA Mol 2
100,0002 x1& %153 1,500
SRRl NN +C
100,000 12 23] 2,400
307 212+01& 10,000 10,000
11 AMRISXAEEES 10,000 10,000
LN EREZ M AY 10,000
LEHQ F=HYUENHIA AIBAS 200,000 0 200,000
307 elztol & 200,000 200,000
05 21t S 200,000 200,000
LEIZ FHYSMEIL AME AL 200,000
ZOHRIR 23| ArHH| X1 12,000 12,000
307 gl2to| & 12,000 12,000
02 QA AAEE X 12,000 12,000
O F 23 ArHl X
1,000,000& ~12& 12,000
ROIEA EMSHs ZO0HOIS =0l AL K& 10,000 10,000
307 elztol & 10,000 10,000
11 AMEISXAEEES 10,000 10,000
OIS Mot H0HOtS =0lnAE X2 10,000
IS 2el 2,600 2,600 0
201 er=23| 2,600 2,600
01 AtR2te|Hl 2,600 2,600
OIS =IHHEX M
1, 1002 *2,0000HK 2,200
DY ABEX T BEE Ol4 S
100& *4,000% 400
ZopId kel X (Letagxtel) 1,443,554 1,326,378 117,176
= AN
Al 21,777
301 EtE N = 1,443,554 1,326,378 117,176
= 21,777
Al 721,777
01 Al EE A S (2 RDEEA) 1,443,554 1,326,378 117,176
oI xtel X (deraextel) 1,443,554
= 21,777
Al AN
ZoHeIYXtel XA (SXLXtel) 477,662 404,936 72,726
= 238,831
Al 238,831
301 EtE NS 477,662 404,936 72,726
= 238,831




2A:
X XH -
o e

=aak

SXIEZ L
KA SXIAMHIA 28t
ZOHQ! MEOHE XIJ

SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 238,831

01 Al EE A S (2 RDEEMA) 477,662 404,936 72,726
ZOHeIYRtel X (SXLXt2l) 477,662
= 238,831
Al 238,831

ZOoHIdAtel XI& (AR XtE]) 360,892 346,094 14,798
= 180,446
Al 180,446

301 EtE NS 360,892 346,094 14,798
= 180,446
Al 180,446

01 Al EE A S (2 DEXMR) 360,892 346,094 14,798
ZoHQI L X2l X1 (AIREMILRt2l) 360,892
= 180,446
Al 180,446

AZEEO0HQI CHOFAL IFAAS 170,290 149,052 21,238
= 136,232
Al 34,058

307 elztol & 170,290 149,052 21,238
= 136,232
Al 34,058

11 AMEISXAIEEE 170,290 149,052 21,238
AZZ0HE! QFOFAL TIF2AMY 170,290
= 136,232
Al 34,058

HUHI=XAIE K& 6,871,7%4 6,730,820 140,934
= 1,865,649
Al 4,849,304
- 156,801

HHZO(ZHAAIES=EX) 207,920 184,000 23,920
= 187,128
Al 20,792

307 @120l & 207,920 184,000 23,920
= 187,128
Al 20,792

11 AMRISXAEEES 207,920 184,000 23,920
SOHIMEAIE x5 A HHSO 207,920
= 187,128
Al 20,792

SO MEAIE 2 2,307,297 2,331,549 N24,252
= 1,615,108
Al 692,189

307 el2to| & 2,307,297 2,331,549 N4, 252




2A:

E M

X=]

SXIEZ L

NAtgl SXIAHIA 25t

= XAIE KR

S A - BRI - NRA - BES of e A
= 1,615,108
Al 692,189
10 Al SXAEEHE2EHI2x 2,307,297 2,331,549
O HEANE =2 2,307,297
= 1,615,108
Al 692,189
ZONQUMEAIE SAK X+ 75,983 75,983
Al 75,983
307 glztol & 75,983 75,983
Al 75,983
10 Al2ISTIAEEE2HIEX 75,983 75,983
HOHQUMEAIE SAHA =K== 75,983
Al 75,983
ZOHIAEAIE SAHA SXEQIE 4,300 4,300
Al 4,300
307 elztol & 4,300 4,300
Al 4,300
10 Al2ISTIAIEEE 22X 4,300 4,300
SONQIABIAIE BAK ZXIEOIE X2 4,300
Al 4,300
ANEHF=Z0HR! B2SHl K& 5,000 5,000
Al 5,000
307 el2to| & 5,000 5,000
Al 5,000
11 ARl S XA 5,000 5,000
ANEA=Z0He! YA2tSH| X 5,000
Al 5,000
OHIUEAIE EHREAH, ES2 1,432 1,432
&
Al 1,432
307 @20l & 1,432 1,432
Al 1,432
11 AMEISXAEEES 1,432 1,432
HONOIMEAIE EHRAH,
ZHAlHl I 1,432
Al 1,432
MBI XAz MEE 29 24,000 24,000
Al 24,000
307 21201 & 24,000 24,000
Al 24,000
11 AMEISXAIEEXS 24,000 24,000
ANEZR XA HEgs 29 24,000
Al 24,000




2A:

SXIEZ L

g NG Ml SXIAMEIA Zet
Rl ZOHI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O HTAIE EIAZO0Q NEEEHS 20,000 20,000 0
Al 20,000
301 EtE NS 20,000 20,000 0
Al 20,000
02 A2 A6 (FHAAS, NLWE) 20,000 20,000 0
ZOHUHFAIE EIAFS HEHEXS 20,000
Al 20,000
el SSdEIHE =29 65,716 127,569 61,853
Al 65,716
307 212+01& 65,716 127,569 61,853
Al 65,716
10 Al SXAZEHE 22X 65,716 127,569 61,853
el ssHEIE =29 65,716
Al 65,716
ST NedEdy =29 168,533 158,533 0
= 63,413
Al 95,120
307 gl2to| & 168,533 188,533 0
= 63,413
Al 95,120
11 ARRIS XA E X 168,533 168,533 0
SSEML NSdzdE 24 168,533
= 63,413
Al 95,120
SSTNQ NHSMEMEH 2H(AHIZEI 30,000 30,000 0
Al 30,000
307 @I2t01 & 30,000 30,000 0
Al 30,000
05 2I2tRIE =S 30,000 30,000 0
STHH NSMEHE 2H(AHIFIIXA
) 30,000
Al 30,000
IS HoAE NEHEH 29 54,000 54,000 0
Al 27,000
- 27,000
307 @201 & 54,000 54,000 0
Al 27,000
- 27,000
11 ARRIS XA E X 54,000 54,000 0
YOHAIS HOAlE NZHE 228 54,000
Al 27,000
- 27,000
gojelsxa 249 2,239,684 2,239,684 0




2A:

X XH -
o=

SXIEZ L

NAtgl SXIAHIA 25t

el ZoHI=EXAIE X2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

Al 2,239,684

307 gl2tol & 2,239,684 2,239,684 0
Al 2,239,684

10 Al SXAEEHE2EHI 22X 2,239,684 2,239,684 0
o=z 29 2,239,684
Al 2,239,684

Joel==g 29 N 31,600 31,600 0
Al 22,120
T 9,480

307 elztol & 31,600 31,600 0
Al 22,120
- 9,480

1 AMEISXAIEEXS 31,600 31,600 0
Foel=sg 248 Nd 31,600
Al 22,120
- 9,480

el F=UESAIE 29 393,039 393,039 0
Al 393,039

307 el2to| & 393,039 393,039 0
Al 393,039

10 Al SXAEEHE2EHI 22X 393,039 393,039 0
e =2LESAIE 29 393,039
Al 393,039

=SS AHE 2S(F2E0e!) 201,371 201,371 0
Al 201,371

307 @120l & 201,371 201,371 0
Al 201,371

10 Al SXAIEEHE2EHI 22X 201,371 201,371 0
3 SAUH 29 (H2AF0He) 201,371
Al 201,371

ol HAMEALE 2 930,920 767,001 163,919
Al 846,539
T 84,381

307 elztol & 930,920 767,001 163,919
Al 846,539
- 84,381

10 Al SAAEEHE 22X 930,920 767,001 163,919
TR XMNAMEAE 29 930,920
Al 846,539
- 84,381

ZHTHE THOHEOHR! SAlH| 37,044 37,044 0
Al 37,044
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SKAEE L
NS (2K F D)
QI 2| &)
SA - BB SRAGIH) - NSAY - BES i s
HY2HZH(SXFHHY) 307,529 287,727 19,802
s 89,430
Al 44,715
T 173,384
elA2AY| 236,493 218,661 17,832
Fas 89,430
Al 44,715
- 102,348
AR (SEAtZEIAL) 236,493 218,661 17,832
s 89,430
Al 44,715
- 102,348
101 @I24H| 215,177 197,345 17,832
s 89,430
Al 44,715
T 81,032
03 SR (RIAHY) 222> 215,177 197,345 17,832
SEAteZEIAL 2148 (5) 178,860
s 89,430
Al 44,715
T 44,715
ST AtdZelAL BA0E
1,394,600& 5L 6,973
SEAtdZEIAL BEAHUHS
2,083,600& 5 10,418
SEAtdZEIAL ZHSAH|
140,000 x5+ 122 8,400
SEAHHIZElAL B
340,000 » 123 4,080
SEAtAZeIAN SRS FIIsY
112,120 5%+ 10 5,606
S At Zel At THEHSHHIXIE = 600
25+ 20,0002« 18 %123 240
M H=RE=S 21,316 21,316
M SRA(RIHY) 22N EE2RE=s S 21,316 21,316
HERY= S 21,316
=ZH| 71,036 69,066 1,970
Jl=&H| 71,036 69,066 1,970
201 LBt 21,950 19,980 1,970
01 AFR2t2ltl 21,950 19,980 1,970
Tl EWItERIX 150,000 * 1004 1,500
HEASZAINZ Q1A
35,000 70 2,450




2A:

SINESES N}

M HYRAZH(SXFHL)
=l Jl=3H| (Cte: M
SA - ZE . BR() - HRAR - BES of v G o HIDE2
2R SAHI
9,000 x641x20 * 123 12,960
SEAtEIZEIAL SAI
9,000 *34!+5& x 123 1,620
fA2EHI 3,600,000 *95% 3,420
202 04l 42,336 42,336
01 2LHoIH 42,336 42,336
A 20| 280,000& x21H « 122 +60% 42,336
203 HR=H] 6.750 6,750
01 D[22 LR FA| 2,970 2,970
I A2 YR =AY 3,300, 0002 *90% 2,970
04 PAE2EERFAH 3,780 3,780 0
SARYARETY|
350,000& 122 x90% 3,780




